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Question Number : 1 Question Id : 550053961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a set A has n elements. then the number of functions defined from A to A that are
10t one-one 1s

A A & 1 duresten Gotl, 8\ A 2006 A3 6(0d o BIEAW

RV uRAN

Options:

2
| . (n)n



L G Sl S S SIS 0

nt—n!

Question Number : 2 Question Id : 550053962 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If f(x)is the signum function, then m terms of f(x), the constant function
g(x)=1, VxeR i

f(x) & oz FORVIOV IR T TRV D SN @Z)Q\ cRod, gx lesd5.>5

oAb f(x) Desdwed

Options
(2 —f(x). x<0
s
lf(x). x=0
1. %
f(x)+f(=x), x<0
g(X)=J\( ) < B
[fx)f(-x). x=20
2. % '
(1+f(x X =0
sy = T

Ll f(x). x<0



Question Number : 3 Question Id : 550053963 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 1 3]
If A=5 2 6. then A+A +A* + A’ +3I=
| < if 8
1 1 3]
A=|5 2 6 | wond, o\ A+A+A+ A’ +31=
-2 -1 -3
Options :
[4- 2 1]
2 5 6
-3 2 3
1.% ~ B
[ 4 I 37
5 5 B
2~ D
2.V B
3 I 4]
3 ] =3
-1 2 -1




2
)
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Question Number : 4 Question Id : 550053964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the solution for the system of equations x+2y-z=3, 3x-y+2z=1 and
2x-2y+3z=2 is (a,B,y). then o +B’ +7" =
X+2y-2=3, 3x-y+22=1 So8ck 2x-2y+3z=2 Adsdere éééfg aws),
Fed (0,p.7)wond, TN a‘+pi 4yt =
Options :

33
1. 77

Question Number : 5 Question Id : 550053965 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

If [x 4 —1]/1 0 2|| 4 [=0. thenx=

X
[X 4 _1] 1 024 |=0 ©wand, 0\ X =

)
l
—_

Options :

~1+6

Question Number : 6 Question Id : 550053966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. . : b. z
For real numbers a and b, if 4a+1(3a-b)=b-61 and z=a+—1, then U =
‘ a

b.
"R Doen a wdatn by, 4a+i(3a-b)=b-61 Lok z:ai—?

Question Number : 7 Question Id : 550053967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

N "3 N . . ot
If z=(1-1)"(x+1) is a purely imaginary number for x =x, and if z is a purely real

number for x =X, then x;x,=

x=%,8 z=(1-1) (x+1) 28 306 88,6 Doaf B X=X)S Z w8 NG TR
080 90N, RN XX~
Options:

1.¢ =1



Question Number : 8 Question Id : 550053968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

o ‘) N . . e .
If 1, . " are the cube roots of unity, k 1s positive mteger and

(l~o+0’) +(1-0'+0)* = (~o+0' )" +(1+0-0 )"

,then k =
L, 0" e D580 6og) wdsureren, k a8 6 QrTodin ok
(1-o+0' ) +(1-o +o))3k = (l-o+0'y* +(1+o)—o)3)3k’1 903, @@Da)k =

Options:



Question Number : 9 Question Id : 550053969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. G i . <o
If o,  are the two real roots of 4™ roots of unity and .8 are the other two roots of it,

then the sum of the eccentricities of the conics [z-0|+[z-P|=4 and

z-y|+-§=6is
D880 A 45 durered’ Got D Mreren o, B 6aby MDD Boc

S0rere) 1,0 0ond, 9\ ‘z—aHz—B‘ﬂ 00080 12"/

+z-8=6
FOSTRV AW, 68,0880 Ao

Options :

N |

N

Question Number : 10 Question Id : 550053970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The set 1[\ cR:16(2%)>16%

[

DS J R:16(2%) > -Tl
& J-
Options:

{xeR:x>0}

1.¥
. 1(xeR:x<0}
2.
3. % R
4, % {KER:X 2}

Question Number : 11 Question Id : 550053971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The set {\ eR:4+11x-3x* > } 1s the interval

D3 {\ ceR:4+11x-3x" > O}- e.oofb?S ZleTsTole

Options:



2.%
4 l 3\
4, ~ |
3.%
l'/" 4 _1 \
4% = ¢

Question Number : 12 Question Id : 550053972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the sum of the cubes of the roots of the equation x* —ax” +bx—c =0 is zero, then

2 +3c=

L0g8Raw X* —ax’+bx-c=0 GAg) SaPeRw Mg, T Awdo
T oS, WY\ 2’ +3c=
Options:

—2ab
2ab

—3ab



3ab

Question Number : 13 Question Id : 550053973 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a.B,7

*/
opyen x° ) AR Q308) LD oS, SION ZB =

Options :

|19 th | -
|t

|
tn | W

Question Number : 14 Question Id : 550053974 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



y ; . ; ; 4 19 ;
If the numerically greatest term in the expansion of (2-3x ) when x =1is

P P{ P/ P; (P, <P, <P, < P, are the first four prime numbers). then o:+p+y+5=
x=1 soudigyd® (2-3x) g, dood’ voarys o 16 Deo

BRI PI Py (B <P <P <P, oo 3wcsh Feor 9omd dopfen) wond, et
o+p+y+o=

Options:

].#,1:5

12
L« 14

11

Question Number : 15 Question Id : 550053975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of all 8 digit odd numbers is

esi)cl 8 @903 &3 'A)o&)}go {ooa)5
Options:

6
| v 45x10

6
. 90x10



9% 10°

9% 10°

Question Number : 16 Question Id : 550053976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The degree of the polynomial (\ lx =1 ')9 - (\ —x*-1 ")9 is
(x +4/x° —1')9 +(‘x —x* _1"’9&);5»0;3& Do), SSHS

Options :

- 14

Question Number : 17 Question Id : 550053977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of all four digit numbers which begin with 4 and end with either zero or
five is

et & A, W) G o & odidly ©) TRV 8030 Doy

:30:;05

Options:

200

64

9
h
(@)}

Question Number : 18 Question Id : 550053978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(n)=n!(31-n)!, where ne{0, L 2, ..., 31}, then the minimum value of f(n)

1S

f(n)=n!(31-0),ne{0, L 2, ..., 31} eoond, i)\ f(n)ding s deod

Options:
(15!)(15!)
1.%
(151) (141)



(141) (16Y)
3, % |

(15! (16!)

4.¥

Question Number : 19 Question Id : 550053979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

tan A | COtA B
l1-cotA | l-tan A

Options :

sec Acosec A—1
1.%

, % tan A +cot A

s v tan A +cot A+1

secA +cosecA +1

Question Number : 20 Question Id : 550053980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the ranges of the functions given in List — A with those of the items given in
List-B

20T = A & ady pdoire TR, 20T - B & adyd wosdwed

200908
List—-A 2dz-A List-B @dz -B
.. ) 1
(I)  3sin“x+4cos”x-2 (a) T 1}
() cos’x+sin'x (b) P-l- l}
> | 44
(I0)  sin’x+cos’ x ©[L2]
@) 1}
( P ) (Zn ] .
cosXcos| — +x lcos| —-x
(IV) (3 3 (e) [0. 1]
Options :

. ()=>@© (I)> (@ () (d) (IV) — (b)

(=@ (D)= (@ (I)- @ (IV)-> b)

2.¥

(1)=>®) (O)— @ (IO)— @ (IV)—> (e)
3. %

)=0) (D)@ ()@ (V) (©



Question Number : 21 Question Id : 550053981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

 sin2A +sm2B+sin2C
In AABC, —

COsSA+cosB+cosC—-1

sin2A +sin2B +sin2C .

AABC &5°, =
CosA+cosB+cosC-1

Options:
2 [sin A +sinB+sin C‘]

1.¢

sinA +sinB+sinC

2.
~ 4[sinA+sinB+sinC]|
3.%
8[sin A+sinB+sinC|
4.

Question Number : 22 Question Id : 550053982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

c0s12°.c0s24°.c0s36°.c0s48%.cos 72°.cos84° =

Options:

1
32

.



Question Number : 23 Question Id : 550053983 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If o, B are acute angles such that smf=2sma and 3cosp=2cosa, then
sec(a+p) =

sinf=2smo &80 3cos[=2cos o ik o, f o O eren wod,
W)Y sec(o+) =

Options:



n

Question Number : 24 Question Id : 550053984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

3

X
. then cosh — =
12 2

If sinhx=

: 5 X
sinh X = — e900A, LI NS cosh— =
12 2

Options :

-
J

o

)
9y

Question Number : 25 Question Id : 550053985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



s 1 A B) C
In A ABC, ; tanT+tan: tan— =

\ e P e

o A BY B
AABCe’, | tan— + tan— | tan— =
| 2 2 ) 2

Options:
2¢
.~ a+b+c
2¢
, % a+b-—c
2
2¢”
) ) 9
y & +b7+c
3.
C
4% a+b+c

Question Number : 26 Question Id : 550053986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o T -1
In AABC. if ZC =90°. then [1‘ =

AABCE’ £C =90° e00md, 5236 ' hoh
\ 11 A 1.2 /

Options:

1

)

ro

Question Number : 27 Question Id : 550053987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC. A. B and C are in arithmetic progressionand a:c=1:2. If b= 4\/3_ cm,
then the area of AABC (in Sq. cm) 18

AABC & A, B, &80t C 083¢ & &) o do8asw aze=1:2.

b=4y3 0.2 w008, B)\& AABC TR0 (85.20.20 ©F)

Options:



2. %

v 243
6+/3

4.%

Question Number : 28 Question Id : 550053988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Tv — 9 ‘
17x -2 A n B then a.A+bB=

If — =
12x"-x-20 ax+5 3x+b
B 4
+ 29000, WY aA+bB=

17% -2 A

12x2 -x-20 ax+5 3x+b

Options:



Question Number : 29 Question Id : 550053989 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let a.b and ¢ be any three non coplanar vectors. If m, n are scalars such that

a+b=md-c and b+c=na—d, then3a+2b+2c+d=
a.b Bakw ¢ e DT Qe 3o pA%ORLERe. a+b=md-c S8k
b+c=na-d @0335é.>gpr7° I, 11 &0 35%0 90Nd, eazg)gci) 3a+20+2c+d=

Options :

v a—d

Question Number : 30 Question Id : 550053990 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



If 2i+j-k = s_| +5k and -3i+ 41 +4k are the position vectors of three points A, B
and C respectively. then

21+ -k, i-3j+5k 208080 -3i+4]+4k e i & Dododen A, B
28030 C © goa NEITS, Y\
Options :
ABC is a right angled triangle

ABC 8 vo St So10o

ABC i1s an isosceles triangle

ABC a8 fobo&cgwm XTASETS)

A. B, C are collinear points

A, B, C e 238Dah DocodHen

ABC 1s a scalene triangle

ABC 28 D00 e S3dao

Question Number : 31 Question Id : 550053991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Let L be the line passing through the poimsi— ok and 71 +k and 7 be the plane

passing through the point 61+ j and perpendicular to the vector 1+ j+k. If 6 1s the
angle between L and 7, then sinf =

i-9k S08aky 7j+k Doty ot ek 26¥ o L 20804061+ |

DocoRMot TP 1+]+k HB3H voworr &od dwodd T wDo.

L $0805 7 © 53365&@%5 20 B 00, e\ sinf=

Options:

()
=

o
h

Question Number : 32 Question Id : 550053992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If OA= 2i-j+k OB= 3i-k and OC =2j+ 3k are the position vectors of the
points A, Band C, then a unit vector perpendicular to the plane contamnmg A,B and
Cis

OA= 2i-j+k. OB= 3i-k 80% 0C=2j+3kevAB &batw C 0d
DotddH® fgf’é:)&%vowé. @\ AB @8 C vky $0A &) Serd3
DOWOTT GOG w8 0TV DHP

Options:
8i—4j+2k
2421
1. ®
6i+ 23+ 3k
2. % 7
9i+2j+6k
3 % 11
8i+2j+5k
\93
4.¥

Question Number : 33 Question Id : 550053993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Letb =3i-2j+k and ¢ =1i-j-kbe two vectors. If a1s a vector such that

a+b+c=0. then |axb+bxc+exa

b =3i-2j+k 20800 ¢=i-j-kBot HBIR0mr0. a+b+c=0

e9C30( T a oD s 6% eof, CRONS axb+bxc+cxa|=

Options:

Question Number : 34 Question Id : 550053994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If each of the observations Xy, X. ..., X, 18 increased or decreased by k, where k 15 a
positive number, then the variance of the data thus obtained

HOIVIW X1 X, ... Xy OF Qawi’)l k $ Docs G Shodrr (k s ¢d)8
R0a)) S8y BLroF A, DRYS

Options:

1.%



increases by k

kK 20800008

do not change

Pabrleln®

. 2
is equal to k~

K% & D3350

is equal to 2k

2k 8 L300

Question Number : 35 Question Id : 550053995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If S be the sample space of a random experiment & and P be a probability function

defined on the power set P(S) of S. then which one of the following is not satisfied
by P?

(1) P(9)=0

(i) If E° s the complementary event of E. then P(E°) = 1-P(E)
(1) 0<PE)<1, VECS

(iv) If E; c Eythen P(E,)<P(E,)

w8 OZiJ"C,S&z:)‘)S HArdo & ako8) F0)® 896630 S 08w S aog) ANV
P(S) 2 ARodwcd 28 doere 23003008 P oo, it S0 T
P &0 DOIAE

(1) P(¢)=0

(ii) E 8 r68 30 E° wad, P(E) = 1-P(E)

() 0<P(E)<1, VECS

(iv) Eq ¢ E wowdipcd P(E,)<P(E,)

Options :

| (iii)
2.V L
, (ii)

Le @



Question Number : 36 Question Id : 550053996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B simultaneously toss one coin each every time, each 50 times, then the
probability of not getting tail on both the cons 1s

A $o808w B &0 88’8 T3y 8), 860 50 3 OFB sl DY,

W)\ & Totdd TR 85°AR DELTE GodaS (o R0z

Options:
7 x50
(3)
L 4 )
1.¥
7 50
(2]
‘ 3 ‘}
2. %
1 , 50
2
3 H l\ 3 /
1 .50
]., 2}
4.% 7

Question Number : 37 Question Id : 550053997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A pair of dice 1s thrown. Then the probability that either of the dice shows 2 when
their sum is 6 13

w8 P50 o)) BGorrdd. & FDSuP Doafw Ao 6 WY THS
D8 2,88 2 0 D SN

Options:

#
o | =

th | |

| W

Question Number : 38 Question Id : 550053998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B are any two events of a sample space, then set-theoretic description for
the event: “Exactly one of the events A, B to occur™ i

(Here E° denotes the compliment of the event E)
w8 QIreNg DAAPARY) ToRY B6RE” A. B e Goth dubdey wond, ‘AB
08’ PO\BorP 88 SrgD adito” B WHRDH VDS drd 68 (ag e E

O30 WO E aiog) QoS ol ardived)



Options:

] % ANB*

(A-B)uU(AuUB)
2. %

P ( AN BC ) J ( J.Ac M B)
3.°%

(ANB) U(A°NB)

4.%

Question Number : 39 Question Id : 550053999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the mean and variance of a binomial variable X are 2.4 and 1.44 respectively, then
the parameters n and p are respectively

w3 BLH6 SoTd X awg), 0080600, Ay SdR 2.4 odafy 1.4

OB, BRPYE DTSR 11 B P L0 SERT

Options:

N
|t



th| W

(v.0]
w
) | =

Question Number : 40 Question Id : 5500531000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a Bernoulli trial 1s conducted n times, then
Which one of the following is not suitable to use Poisson distribution?

1) Each trial results in two mutually exclusive outcomes namely success, failure

ii) The number ‘n’ of such trials is sufficiently large.

(
(
(1i1) The trails are independent of each other.

(vi) The probability ‘p’ of success in each trial is very large.

w8 507) D 0108 00 1 I 26, Y\t &
208 T DA Foned erard) eHBFHoSTEAS SHH6 $6?

(i) 26 o) 0 fensy, &b © Both DBE AV DTV o G008
(if) erod) aEr) © R08)f ‘1" SASS HABHLA
@ (5]
(i) & e e 962,60 (B0,

(iv) 95 abe) 0" Fry GIg), Dogrfd P’ Erer AL

Options:

(iv)

1. ¢



(i)
(i)

(1)

Question Number : 41 Question Id : 5500531001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The locus of the point which is equidistant from the point (1,1) and the line

X+y+1=01s
(L1) Dockosd) 00 baky x+Y+1=0 26w8 ol 2T drdod” ady
Do) 03)356 Dotddo

Options:

X’ -y’ +6x+4y-3=0

4L ® X +y —2x—2y+4=0



Question Number : 42 Question Id : 5500531002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the y-intercept of the perpendicular bisector of the line segment joining
P(1.4) and Q(k.3) 15—4. then a possible value of ki

P(1,4) 080w Q(k.3) Dothrepwn $dm 3 a3); ©08) RBIOGA o)
GI08), y-2086 ocko —4 waNS, WY\t k g &(:_573:361 28 e
Options:

2

Question Number : 43 Question Id : 5500531003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A straight line L at a distance of 4 units from the origin makes positive intercepts on
the coordinate axes and the perpendicular drawn from the origin to this line makes an

angle of 60° with the line x +y=0. Then the equation of the line L 1

Jare) Dot vod 4 ey Ardos” 68 w8 V0w L ArosEupR 68
09080 0L S0d LB Surw Docdod) Ar0d & VEVED L AD oo
X+y=0 2 & 6080 SJ0B. R\ & 26¥ T L a30g), dedttio

Options:

i W3 +Dx+GB-Dy=82

” (\/“:—I)X+(‘/?_+1)y:8\/§

2.

. \/gx+y=8
3.

x+\/§y:8

4,%

Question Number : 44 Question Id : 5500531004 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If p and q are the x and y — intercepts respectively of the line passing through the

2 2

: : . i b
points (acosa.bsina) and (acosp,bsmp), then —+— =

P q

P 08050 q e SEAM (acose.bsina) udokw (acosP,bsmp) Do dor

i 2

a” b’
ol 0¥ B9 08, X SBaDY Y- WoSEPETS, iy 27+-7 =
Pq



Options:

4. %

Question Number : 45 Question Id : 5500531005 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

; 3 ) 3 | 13
If ad # 0and two of the lines represented by ax” +3bx"y+3exy” +dy” =0 are
perpendicular, then

ad 20 8ok ax’ +3bx’y+3exy’ +dy’ =0 & ardocs e S & Bt Saen

LOWOTT G083, TN
Options:

a’+ac+bd+d*=0

a’+3ac+3bd+d*=0



, a’—3ac—3bd+d*=0

. a’+3ac—3bd+d*=0
4.

Question Number : 46 Question Id : 5500531006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The absolute value of the tangent of the difference of the angles made by the lies
4x* - 24xy +11y" =0 with the X-axis is

4" - 24xy +11y" = 08 2rdocd 0@ 26¢ Gpen X -0 & Sk Smo Heaw

03.1356 80 08) DB :we)s IV

Options :

*
w1



Question Number : 47 Question Id : 5500531007 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the extremities of a diagonal of a square are (1,-2.3) and (2,-3,5), then the
length of its side 1s

WS BHABY0 AE), w8 DG WodDotHY AErDHS L (L.-2.3) &bk
(2,-3.5) wand, od cing) doxo T

Options:

1*”\/g

Question Number : 48 Question Id : 5500531008 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Coordinate planes and the planes m,,7,, 7, which are respectively patallel to YZ,

ZX. XY planes at distances a. b, ¢, form a rectangular parallelepiped. d;isa
diagonal of the face on XY-plane not passing through origin and dy is diagonal of

plane 7, coterminous with d;. If none of the coordinates of the vertices of the
parallelepiped are negative and angle between d; and d; 1s 6. then cos6=

QDL oty YZ, ZX. XY derodh ddroddorr S8 a, b, ¢
Bro08’ 6ol SuPcy Sered T, T, e a8 66 R0 J6\COBR®) o,

XY- d00p i) 66 wdo 10ard3 dure Dotia ot S8 s gdo d;
2060t dI & REPTFALOT Godbokure T, deo dng) Dgdo dy. BY o
o:msb ) %go 03»525 QETOZ 2AVETS) S 9&%}3 080w dy, dy) © :nc,SS &m0
6 eond, W)Y cosh=

Options :

2

a

Jai+biyal+¢?

1.9
a
Zhid 2 i
S % a-4+b"xe
T
3. % -
2
a
2 2 2 2
x/a“+b‘\/b‘+C“

Question Number : 49 Question Id : 5500531009 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An equation of a plane parallel to the plane x -2y +2z-5=0 and which is at one
unit distance from the origin 1s

X-2y+22-5=0 £ ddroddorr aobar D800 dure Do) Aod ws

0D Brdos’ o B0a0 DEGN0

Options:

Question Number : 50 Question Id : 5500531010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A circle S touches Y—axis at (0. 3) and makes an intercept of length 8 units on
X—axis. If the centre C of the circle S lies in the second quadrant, then the distance
of C from the pont (=2, —1) is

S &3 28 S0 Y- o5 (0. 3) 96 232008 obakn X—-ego » 8 ey
T o 0038 o) FoB. o S ) Sogo € Foksd o8’ ol

(—2. 1) Dot Mod C 3 do &rdo

Options:



Question Number : 51 Question Id : 5500531011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the equation of the circle of radius 3 units which touches the circle

X' +y +6x-8y-11 = Oexternally at (3. 0)is x*+y" +2gx+ 2fy+c =0, then

Jg-4f +c=

X' +y’ +6x-8y-11 = 0 S0\ (3. 0) IE ePee{ore 2y, 337, 3 Carde

TG0 SDAD a8 B0 Aoy, S0 X°+y +2x+ 2y +e=0 wowd,

o)\ g-df+e=

Options:



Question Number : 52 Question Id : 5500531012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Tangent L, =3x-4y-8=0 and the chord L, =x+y-1=0 are at a distance of

2 and 2 unis respectively from the centre of a circle S. (h. k) is the centre of
2 2 - - « 3 3 C :
S such that 1" +k” =13. If the midpoint of the chord L, =0is (0,p) and the radius

of the circle is 1, then a+p+1=

\8\8 Ly =3x-4y-8=0 dodasn &§ L, =x+y-1=0 o0 S0 § atwg),
Sogso 00 SENIT 2 S0Bak 2 el rded’ ey, b’ +k’ =13
it ™ S aws), Sotho (1. k) &od. L, =0 g ciog) dods Dodody (01.P)
WO, ¥ SI0 TG0 1 oD, WY\ o +ptr=

Options :

Question Number : 53 Question Id : 5500531013 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

2 E ~ 5 it 2 x %
The polar of a point with respect to the circle x™+y" —10x+12y-3=0which 1s not
a tangent and not a chord of contact 1s

X +y 105 +12y-3=0 0 iy w8 06 82 0Bk w8 6, a5
Seadtdoth &8 Dockoy) dwg) ¢osd Ba

Options:

2x+3y+8=0

1. %

3x+4y+5=0
2. %

X—12y+7=0
3.%

6x—8y+15=0
4.¥

Question Number : 54 Question Id : 5500531014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the angle between the circles x*+y* +2x-4y+1=0and x*+y* -4x-2y+c=0
T
15 —, then ¢ =

4
X+ +2x-4y+1=0 S08ow X’ +y -4x-2y+c=0 o3 oo Q6 o

T

&0 . 0N, B\ €=

Options:



1.¥Y

2. % =

;% 79 or 13
. % —31 6F—3

Question Number : 55 Question Id : 5500531015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let a focal chord 12x+5y-27=0 of the parabola y* = kx intersect the parabola at

the points Pand P'. IfS is the focus of this parabola, then 9(SP+SP' ) =

¥ =kx o dodeaho dog, T 12x+5y-27=0, & dod00rd)
P sbatn P Dockoidyw 96 wodiesRodiomro. & drrswabo Ging) T
S wowd, iy 9(SP+SP') =

Options:

16 SP.SP!
3.



7 1
4V 4 SP.SP

Question Number : 56 Question Id : 5500531016 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let E be an ellipse whose major axis is X-axis and minor axis 15 Y-axis. If the

\

. N : e 1 13 »
distance of a point ; ;.Z\E on E from its foct are ; and i then the eccentricity

-

of the ellipse E is

X- wm) drgomdr, Y- oxd) @&gﬁoww $DAD a8 6 BT

(5 \
E esdogoomro. E 3 do ) :2\/-%_ 9 DoV G T TFIVL (Y AXTN

/

— wod, 88 Hdo E dwg) &) odd
2 o J A

Question Number : 57 Question Id : 5500531017 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

o T (3n) . %3 :
If P: 1 ;and Q_l T) ] are two points on the hyperbola 45" - y -8x-2y-13=0in

parametric form, then the distance between P and Q i

/
[
v

— | 080t Q -

4x* -y* -8x-2y-13=0 eddordoabo P 3V

3T
/ 4

\

\

T0B0 6ro8 o) Boct) Dok, i P doBaky Q v dudv
&rdo

Options:

NG

1.¥

Question Number : 58 Question Id : 5500531018 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the point (1. 1) and the origin lie in the same region with respect to the hyperbola

\—, —‘T =1(a>0). then the range ofais

-

- —% =1(2>0) # a8 wdomdoco i (1, 1) 63 Do Srbato
3

2070 Do) w8 oo’ &ol, RO\ 2 Y, T

Options:

»
v \'\/5 -.J
1.9

0. 1)

(0.42)

Question Number : 59 Question Id : 5500531019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Y sl Y .
If lim~—————=-2 then the coefficient of X in the expansion of

x—1

}\-
; : i‘.‘i
(\/4 x> +adx’ ) is
4y La{/\_

/ -\ 4
111111——1:-2 0, WY\ (i/\_’ +a§/x_’ ) aos), e’ x axs),
X X —_ o y .

6380

Options:

Question Number : 60 Question Id : 5500531020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let [t] represents the greatest integer not exceeding t and C =1-2e’.
[e“ ] x<0
If the function f(x)={ae" +[x-2], 0<x<2

[e"‘]—(‘\ b (e

is continuous at x=2, then f(x) is discontinuous at

£ Do 183 ArTrogwio [(] RrddRood Wbk € =1-2e” wdoSoro.

[@], x<0

f(x)=1ae* +[x-2]. 0<x<2

[e"]—C. X22

9 D00 X=2 S5 BIDND) A0 WS, BV f(x) JIyD) dw i’

Options :
X =lonly
X =15¢ Sdorgda
1.¢ ©
x=0and x =1
X=0 8w x=12 5
2 % @
x =0 only
X =0 56 g
3. % ©



x=0, x=land x=

P | =

1
x =0, x=1:08c0310 x=5 0:3%3

Question Number : 61 Question Id : 5500531021 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 6+x 36+X°
oy > . %
If f(x)=[0 x-3 3x —-27|. then lim (X) =
,) x—1 f(__x)
0 2x—-4 8x " -32 '

1 6+x 36+X
™ - ~_.2 3 f(X)
fix)=0 x-3 3x"—-27 29000, QQZQ_)QCL) hm — -
x> £(—x)
0 2x-4 8x"—-32 -
Options:
2
1. %
=
2. %
0
3.¥
|



Question Number : 62 Question Id : 5500531022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

f(x) is differentiable on Rand f'(m)z0. meR.
X f(m)-m{(x)

If lim
x—m Xm

+f'(m)=f(m). then m =

R 2 f(x) 02550050 pavasw sdasw f'(m) 20, meR.

o xf(m)—-mif(x
lim (m) )
x—m X —m

+1'(m)=f(m) e@and, DN M=

Options :

Question Number : 63 Question Id : 5500531023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let f(x)be a differentiable function such that f(1)=2. £(2)=6and

f(x 4 y) = f(\)— k}iy+§y3 Vv X. YE R, then f(‘{) =
J

; : 4,
f(1)=2. £(2)=608080 @) x.ye Ro f(x+y)={(x)+ksy+-y’

)

eociitoen f(xX) 28 LN HHICLAN wod, i\ f(x)=

Options:

- 4x -2

Question Number : 64 Question Id : 5500531024 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5a¥%4.0
Let f(x)={ 3-¢s ~
0. X<}

H

x+0

Thenat x=0, xf(x)and f(x) are respectively

Sel* 42
J .Xz0

3¢
l, 0. x=0

©0%0m0. D\ X =0 S xF(xX) D8asn f(x)en S

H

f(x)=

Options :

Differentiable and continuous

eS5%0AD0 60K DDNDY B

Continuous and differentiable

9 DD D) A BBk wBSVA0H0

Continuous and not differentiable

DD &0 BoBasw 3% D0 5730

Not differentiable and continuous

9% Do%0 P 803 DD Y B

Question Number : 65 Question Id : 5500531025 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ordinates of the points on the curve y=Tan™ (sin Jx ), 0<x<8n", atwhich the
tangent 1s parallel to X - axis are

Ssoy=Tan™ (snvx), 0<x <875 2 D Dochodyp 56 B 16,0 X - 0z 8
DATOBETP &0t08, 83 Dot Y- AErnsdnen

Options:
g
1. % 3
e

2. %
T
4

3.9V
T
A
4. % -

Question Number : 66 Question Id : 5500531026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o y 94
The function f(xX)=x"+—
X

z

, 54
f(x)=x"+— Doado
X

Options:

is increasing and has minimum value 27 in the interval (0,)

(0,0) e90ch80e5’, 3837690 S0B05L EN Dewsd 27 & $A &otnod.
(o)

1.%

is decreasing and has neither maximum nor minimum in the interval (—o0,0)

(-0, 0) 003608, w58 ipr0 8ok (162, S Devdwdy $9A otchd.
2.V

has maximum value 27 in the interval (-, »)

(—0,0) evoehSoes’, glore] Ded 27 & 08 cotod.

3. %

is increasing and has neither maximum nor minimum values in the interval (-, %)

(~0,%) w0608, esBiprao SoBakw 183y, S Densden S8 cocichd.
4.

Question Number : 67 Question Id : 5500531027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If (a®~1)x+ay+(3-a)=0is a normal to the curve xy = 1, then the interval in which
‘a’ lies 1s
xy=1 3593 (a°-1)x+ay+(3-2)=0 a8 edeooe 5 wand, 4 s ok

e03do
Options:

[-L1]u[2.%)

1.%

(—o0,—1]w(0,1]

Question Number : 68 Question Id : 5500531028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 S 5 & . 4D X
The maximum value of x* y*when a’x* +b’y* =c° is

a’x’ +b3’y4 =g 29000 x* y4 QS d@a;q DLVD
Options:
v
16414
L 16a"b



Question Number : 69 Question Id : 5500531029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

(xcos’x —sinx|

jesm“‘ - dxi=
COs™ X

Options:

, e™* (x —secx)+C
1.8

¢

. € (x—cosecx)+C
2.

s x (

e X+secx)+C

3. %

e

sz(

X +cosecx)+C
4. %



Question Number : 70 Question Id : 5500531030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f'(x)=acosx+bsinxand f'(0)=4, £(0)=3, f]

\
\

o | A

I‘:f. then f(x)=

f'(x)=a cosx+b sinx S08aty £'(0)=4, £(0)=3,F = | =S wond, £(x)=

Options:

v 2¢cosX +4sinx +1

4cosX +2sinx +1
2cosX+3sinx +1

4cosX +sinx +1

Question Number : 71 Question Id : 5500531031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If [f(x)dx:\P(x). then [XSf(xs)dX:
ff(_x)dX:‘P(x) 29023, fxs f(x*)dx =

Options:

L5 2 0 a L :
— | x"P(x>) |= | x¥(x)dx
S[YE) |- [ )

1.¢¥



1r 3 NI 3
g[x P |+ [x P (x) dx

2. %

_%[XS‘P(:@)J—J‘ X W(x*)dx
3.8

_%[Xﬁy(ﬁ)] + [x () dx
4.%

Question Number : 72 Question Id : 5500531032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

. 9 a0
. SN o —sin” X ’
If j dx=f(x)+Ax+B and BeR, then
COSX —COS 0L

sin® o —sin’ X .
J dx =f(x)+Ax+B 8ciw BeR eand, CION-Y
COS X —COS U

Options:

f(x)=2smx, A=cosd

1.%

. f(x)=2smx, A=2coso
2.
v f(x)=smx, A=cosa



f(x)=smx, A=2cosa

Question Number : 73 Question Id : 5500531033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1

j(xsm +X7 +X™ (2% +3x™ +6)= dx =

Options:

———(2x™ 4+ 3x™ 465" )= 4 C
v 6(m+1)

m-1

(2% 4 3™ 4igx™ ) m €

, % 6(m+1)°
m+1
1 2‘ nn_!_j _m+6')m 'L'C
6(m+1)"
3. %
1 . -
(2x™ +mx*™® + 6x™ ) = +C
6(m-—1) |
4.+

Question Number : 74 Question Id : 5500531034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



a
If aeZ7,[x] is greatest integer not more than x and j2mdx =127, then a=
0

a€l’, [x] 08 x o8 . 50 (1B} rTosiw Bosn j 2y =127

0

O3, W\ a=

Options:

Question Number : 75 Question Id : 5500531035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
5
I sinx. sin” (cosx ) dx =

Options:

1—sin2



sin2—2
_ 4
3. %
”2+ﬁn2j
4.V 4

Question Number : 76 Question Id : 5500531036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

1
The positive value of X satisfying the equation J(_l —f)dt== 1s
X

b | =

RLBETDY By DB X AANE), BSB)E Dewsd

o | =

j(l—t)dt:

Options:

T4l



-2

Question Number : 77 Question Id : 5500531037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The area (in sq. units) bounded by x =4, y=—4and y=x1s

x=4, y=-4280w y=x S50 oagd dTon (. 050’
Options:

. 48

|9
2

16

Question Number : 78 Question Id : 5500531038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The particular solution of the differential equation (1+y* ) dx-xy dy=0, y(1)=0
represents

09%0D D80 (14 )dx~xy dy=0. y(1)=0 g

, D8 Fedd0 rdodd

D50



Options:
a circle

8 B0

a part of parabola

DTS00 657D 2w 2o

a part of ellipse

EGDy@a0 S°D g erdo

a part of hyperbola

DT D00 €57 20 2350

Question Number : 79 Question Id : 5500531039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If c and d are arbitrary constants, then y =e>* (c coshy/2 x + dsinhy2 x) is the

general solution of the differential equation

¢ 080t d &0 AFE)NS 0E TR VOB, BRY\E

y=e (ccosh\E x +dsinhy2 X | 66 Prrde G0 woky wgud D60

Options:

1. % y”+43"'+2y=0



Question Number : 80 Question Id : 5500531040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which one of the following 1s a homogeneous differential equation?

& 308 WILVD DNEBETOS DADTHOD WILLD PAEBE0 DA?

Options :
dy 3 :
— =X +(sinxX)y
1. ¥
X
dy | =
N =(x’+y')e” + x4y
dx
2.%
2 2
(x* +y* )dx =2xydy
3.V |
X
by 3
X___:-’r_e.
. dx



Physics

Section Id : 55005320
Section Number : )
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Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response : ves
Maximum Instruction Time: 0

Is Section Default? : null

Question Number : 81 Question Id : 5500531041 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of significant figures in 4.870 m is

4.870 m &°D JFr¢S Dogew

Options:

—
$#
fad

o



Question Number : 82 Question Id : 5500531042 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, velocity (v) — time (t) graph representing the motion of a
vertically projected body is

308 T8, o (v) - 50 (1) D 0" Ay JWYT HED0 DI HVY
(vai)iw&mmé&

Options:

T

—

0%1
2.V

IS
A

—

(&)

O ey <,

\/

- {




Question Number : 83 Question Id : 5500531043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The resultant of two vectors A and B is perpendicular to vector A and the resultant

magnitude 15 equal to half of the magnitude of B, then the angle between A and B
IS

Bot B% A 208050 B © 0085m A D83 vorore Syokwr, DO HB%

283720, 969 B 0Bart08’ o oS, A 306050 B © Sugs{ Sao

Options:

Question Number : 84 Question Id : 5500531044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At any instant ‘" the vertical distance “Y" and horizontal distance ‘X" of a projectile
are given by 2Y =6t —gt* and X = 4t. The initial velocity of projectile is

(X and Y are m metre and t 1s in second)

DB 00 T 96 DEDS0 Vv YOrEoddd rdo Y 0Bty &
DT80 HOIrEodd Grdo X ok 2Y =6t - gt dxdoty X =4tte g &
&g 89 Jrdo

(X 08050 Y &b & 8ok t 28k &)
Options:

% 3 ms™

-1
. 4 ms
2.

5ms

6 ms

Question Number : 85 Question Id : 5500531045 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. . . PR . . 1
A lorry 18 moving on a smooth circular path of radius 50 m with a velocity of 20 ms™.
Then the banking angle of the road 1s

(Acceleration due to gravity = 10 ms?)

50m 0"55“530 o) QAR WS &)T"5°0 ardo dowd w &6 20ms” Sdwd
SR> €. 0w & Srdo g erjodol Eno

((bcbég &Beao =10 ms'z)

Options:

tan~

-Ii‘-‘-l'Jl

Question Number : 86 Question Id : 5500531046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A body of mass 1 kg is moving with a velocity 10 ms™ due to a constant force on a
horizontal rough surface having coefficient of kinetic friction 0.4. If the constant
force is removed. the body comes to rest in a time

(Acceleration due to gravity = 10 ms?)
w8 ?gcs 20 SO 0.4 ?3@5 0683 hraso rfo) sy dvop 1 kg Gfo3 (o
5008 10ms™ SA80E B 608, &8 D6 werd) SHBY, & S0Y M 233

ARS8 i’oeg SPOAD

(thdodg &(beso =10 ms™)
Options:

258

Question Number : 87 Question Id : 5500531047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A ball of mass 10 g is allowed to fall down from 10 m height. After collision with
the ground if 50% of its energy is lost. then the height reached by the ball is

G303 10 g o 8 2200 10 m I3 dod $083 DAV SvTe. 80 § & 8%y

So(d o0 33 6 50% S0 2608, b 38h pS S6rdE I
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. 4m

6 1m

S5m

7m
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Time: 0

A Domb at rest explodes into three pieces of equal masses. If two pieces move
perpendicular to each other. each with a speed v then the speed of the third piece 1s

JRAE” &) w8 aroa DR TR o Surcy dwg) eurr AT\
BoBR6. Toth Awg) L0 28D vow BtuY, 1848 v 54 BB Kards
Q08), w3 SD3

Options:

\.7
1.%
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Question Number : 89 Question Id : 5500531049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A Dbody rotating with uniform acceleration about its geometrical axis makes
8 rotations 1n the first 2 seconds. The number of rotations the body makes in the
next 3 seconds is

(Initially the body 1s at rest)
(S B0 DEOTP V) B(6r08 Fdormo SRV w8 SRV MG

2 28008 § Fumren 3R, ST 3 25008" S0 BRK Fdoere 0y
(r6oz08” B0 Aty %@& S0)
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Time: 0

A solid sphere is pushed on a horizontal surface such that it slides with a speed
3.5 ms” initially without rolling. The sphere will start rolling without slipping when
its velocity becomes

F6oz08’ Bddhor a8 Dorr ws WA é‘wﬁv"i’)cl 35ms” DAS wd 80 DTS

dR0p AP, Ao apdrore B Awcsen twts fvo 9¢

Options:

-1
2.5 ms
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The mechanical energy of a damped oscillator becomes half of its initial energy in 4
seconds. In another t seconds its mechanical energy becomes 12.5% of its initial
mechanical energy. Thent=

w8 e3the Gugo TS afrods 35 S afrogds #36° drio wokjorsosh DY
500 4 2506, 08 t 20’ o alrods 3§ §9 arods 388 12.5% e,

0N [ =

Options:
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Time: 0

When an external force with angular frequency o, acts on a system of natural angular

frequency o, the system oscillates with angular frequency ®,. The condition for the
amplitude of oscillations to be maximum 13

o FPRADR[0 0,0 28 eriPfRvo ViFE ot PRI O o w BB
2 HAIPAosIRDE, & BB 0, Sk FaYRjod ondrren Bakory. S0

DB (66%10 9L TPHAVND DEN.

Options:
] — 7 []
N 0;=20
1.
D.= O
d
2.
i, = W
“Tg



Question Number : 93 Question Id : 5500531053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A uniform solid sphere of mass M and radius ‘a’ 1s surrounded by a concentric
uniform thin spherical shell of mass 0.5M and radius 1.5a. The gravitational potential
energy of a unit mass kept at a distance of 2.5a from the center is

M @03, ‘@ ms&gm) B0 28 0% BYo <ol 1.5 355"9&” o 0w sy
t5'e fio D8 Sogdorr ucky. & 65’ Ao dwg) G953 0.5M eawd Sogidw

d00¢ 2.50 508" eotsald ren Y073 GR08), Ko DB

Options :
—-3GM
v 8
3GM
X Sa
2GM
3. % 2
-2GM
Sa



Question Number : 94 Question Id : 5500531054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A cylindrical rod made of aluminum has length 1 meter and diameter of 10 cm. The
rod is subjected to a tensile force of 100 kN. The elongation i the rod 1s

(Young’s modulus of aluminum = 70 GPa )
10 cm o, 1 m TE o 256 wuridado &6 » 100 kN 8xye awo
20IrAoD. eand & 44 TS’ Sikoy Db

(@w§a>boéoo aws), aboh tDeagew = 70 GPa)

Options :

0.81x107* m

1.%

2%x107*m

0.2x10™ m

1.81x10* m
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Time:0



A large open top water tank is completely filled with water. A small hole of diameter
4 mm 18 made 10 m below the water level. The flow rate of water through the hole is

(Acceleration due to gravity = 10 1115'3)
2 e G, Notore A6 (0 28 DG Ay EP{o D O wkBwd 10 m Brbdd
41 PRB0 0 8 D) Gogidn B8, & dogin Aor B DT DMk

(fodbesq Sbeso = 10 ms'z)

Options:

14.14%10°° m’s™

2.1x10% m’s™

1.77x107° m’s™

0.177x10°m?™!
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Time:0

The phenomena of lowering freezing point of water by the application of pressure is
known as

50 S Sobtio dod D8 e, FOUHEATDEY eS80 Sflocserdy
D08,

Options:

1.%



Sublimation

2°e BBBB

Regelation

DG BdDHW

Precipitation

SDFIHDH0

Crystallization

-.sbesésm;an
4. %
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Time:0

A steel ball of mass 200 g falls freely from a height of 20 m and bounces to a height
of 10.8 m from the ground. If the energy lost in this process is absorbed by the ball.
the rise in its temperature 13

(g=10 ms™, specific heat capacity of steel is 460 Tkg 'K ™)
200 g © exbh) 0 2,8 659 w0 20 kg Jdoed ABYT S0 p Hd Lber
10.8 tag 0% Sthsood. & HILE’ EE'\and 33 20 dRroddtod, T

ag‘*géé‘e DGR
(g=10ms?, &8, aws) 460 Tk 'K

Options:
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Time: 0

A work of 166.28 J 1s done to adiabatically compress one mole of a gas. If the
increase in the temperature of the gas 1s 8 °C, the gas 1s

(R=8314 T mol K
w8 3rd TRy S vl T 20060 SoHEedS 166.28 TH
S50 Sy08. TALY) TS egﬁgéesﬁ Srthoy 8°C wowd, & Toin
(R=8314Tmol K
Options:

monatomic

D8 DAL TPV

'I %

diatomic

BLOEDIEDS T°050D)
2.9



polyatomic

23RV GATES ST°O3Y)
3. %

mixture of diatomic and polyatomic

&5 08030 T DEATEWS TPOINDHL B0
4. %
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Time: 0

In a Carnot’s engine, as the gas absorbs heat energy from the source, then the
temperature of the source

w8 58 aogod; oo asFsaio ol e dirosir, easaio GwE)

e
£

Options:

decreases

é(;)be.“sao&

1mncreases

FoloSTablablela)

remains constant

é)dorw &ot0od



becomes zero

r DT DBV
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Time: 0

If the rms speeds of helium and oxygen are equal, then the ratio of the temperatures
of helium and oxygen 1s

39t 0Bk es8y%d g 1S Seboen TS, rdoto SBak
esésaaé (J) egﬁéﬁ) :)que;)
Options :

]V,I:S
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The ratio of radit of two wires 1s 1:2 and the density of their materials are in the
ratio 1:4. If same tension is applied to both the wires then the ratio of the speed of
transverse waves produced in them s

Gt S T{FTe G 112 08080 778 dErTre Fogde g 114, @
Goch) Briv) 2,8 S8R wBBoND, THY'D S¢S Sdorro S Mg
Options :

1:16

1.%

L« 161

1:4

4:1
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Time:0

The frequency of a light ray is 6x10™ Hz. Its frequency when it propagates in a
medium of refractive index 1.5, will be

2% 508 3600 3%%@)«650 6x10™ Hz. 982559 forso 1.5 to alrddo oz e

5708 36830 PO TR a3, 3"&3@&50

Options:

, 1.67x 10'* Hz



_» 910X 10" Hz

, v 6X 10" Hz

L n 4% 10" Hz
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Time: 0

Two coherent light sources having intensity in the ratio 2x produce an interference

pattern. Then the value of % will be

max min

50083 égéo ()QDQ 2X (o Godd {oo&)cg 5°08) BATR) o‘:l)dé bﬁe’éédeao 200Q.

[ 1.
O —— % Ded
Innt+1nﬂu
Options:
24/2X
| x-+1
2X
i
2x +1
2. %
242X
2x +1
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Time: 0

Two charges Q and 4Q are separated by a distance of 6 cm. The distance of the
point from 4Q at which net electric field is zero 1s

Goth e e Q 6ok 4Q e 6 cm Ardod” S Sotbwd &) ow.

T30 4Q ooc HIS d Eo Brdor Do ¢irdo

Options :

- 2 cm
6 cm

8 cm

Y 4 cm
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Inside a charged hollow sphere, at any point the electric field (E) and potential (V)
are

28 8233 500 A%o 8’00 o Do) S¢sd0re S & B3 (E) Sobasw
ci2® TEHS (V) e
Options:

V=0and E=0
V=008a30E=0

1.%

Visconstantand E=0

V %D)dsa.u B3V E=0
2.V |

V = 0 and E is constant

V=0 8cs» E fé))db).)

3. %

V is constant and E is constant

V 28500 s6ain E 80
L% ® @
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The equivalent capacitance between A and B in the given figure 1s

VYD R0 A, B 0 B0¢s§ o)y SRy
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Two metal wires of same length, same area of cross-section have conductivities of
their material o, and,. If they are connected in series, the effective conductivity is

8 T, w8 QNG DT o ot o DI TEPEIRD 6, 20N,
& Sty 3 990 DS Tirsd

Options:

0,6,
G, +0,

26,0,

. G, + 0,
2.9 B

6,6,
Gl . G)

20,0,

G, — G,
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In the circuit, the cells are having negligible resistances. If the galvanometer shows
null defection then the value of V" 1s

CANS HV00S' Dotrv amog) @oé@lgww DR Bocs GHR.
rogdirged’ eigdo ardjo wand, V' devd

MO G
WA @

>
r <

v g 100 ()
4
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If “q’ is electric charge, B 1s magnetic field, ‘R’ is the dee radivs and ‘m’ is the
mass of ions, the kinetic energy of the ions in cyclotron is given by

DeoTdio ‘q’ wahF)od 80 B, & (do R’ 0Bty wairy ¢ 3 ‘m

wond PSS & woird Hows



Options:

qBR
. 2m
gBR
, « m
qusz
;% 4rm
qusz
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Time:0

Curl the palm of your right hand around the circular wire with the fingers pointing in
the direction of current and the thumb gives the direction of the magnetic field. In
this case the upper side of the loop may be thought of as

HTTE & cotar D 1 50 63an(, DS DT 638" Setoy sod o
SR Soboc, ¢ SO e LAHTF) 00 ES B30 ARV08. & Docsdyod
LN cfmSZ) ertio Qer @‘3015&5@5-
Options :

direction of current

DED DTITED
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direction of electric field

DA ESOF
2.%

south pole

AE.69 3yed0
3. %

north pole

v %e_‘.?d C_sabo
4,
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Time: 0

The Curie temperature T¢ represents
SO agga Tc ArDoddE
Options:

temperature of transition from paramagnetic to ferromagnetic

J°0° 903037, 080 A0 Ko 90507, 0T°AS HBDYD e 'tsed

1 ®

temperature of transition from paramagnetic to diamagnetic

FT° 90 080 306 EAST DI, 0Tr DS HrEDEIEH 't
2.% ‘



temperature of transition from ferromagnetic to paramagnetic

208 esoéob%oéo H0é Joe eaojobjjo@fbé HBHBD egegé

temperature of transition from diamagnetic to paramagnetic

ca3r ©aHI), 0890 A00c FT° WADHIY, 0TS DBIYH el 5
4. %
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Physically. the self-inductance plays the role of
S ISorr, OO DBSB0 & FB J'aod
Options :
inertia

adé&o
1.¥

Kinetic energy

, (o233

2. =
potential energy

STIEESECE
3.% @

4. %



velocity

SE

Question Number : 113 Question Id : 5500531073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

: 4 : 2D o
A resistor of 100 €, an inductor of —mH and a capacitor of 0.1 F are connected

in sertes to an ac source. The impedance of the circuit is minimum for a frequency
of

25 .
_mH 26880 2080k 0.1 IF 33006 3636 a8 ac adsad
2
SVdRAETON. Hoako A0S, 938 o SRy 0

100 Q d8Egaw,

Options :

5 kHz

10 kHz

15 kHz

20 kHz
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. ; W, ; 3 5 »
The electric field in NC™ of an electromagnetic wave is E = 36y7 Sin (ot - kx).
The average energy density of the electromagnetic wave due to the electric field is
[ 1 T S| \'~
—=9x10"Nm"C™ |
\ 4me, ]

8 Db, 08 Sdorfo s, oS §3o NC™ & E= 3647 Sin (ot -kx).
G Edo B0 D300 Sdorf ik 33 Forsed

| . 5
=9%10°Nm*C™ |
 4ne_ )

Options :

36 X 10'9 Jm'3

18 x 107 Im™

. 36x107 Jm”

18x 107 Im™
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When light of wavelength 2 incidents on a photosensitive material, photoelectrons
are emitted. If the wavelength of the mcident light is reduced by 50%, the
maximum kinetic energy of the emuitted photoelectrons becomes 3 times the initial
maximum kinetic energy. The work function of the material is

(h— Planck’s constant, ¢ — Speed of light in vacuum)
860riago 1. (o 503 8 S arg) rirgs drrgon dAY I dogriow

GEFORORD, 585 08 g 60iadok 0% Shodd, I dogdow §9

0% 02 $33 3 B0 H61L 13 338 GErdDD. HEEY 1 HRako

(h- §°o§ Q’go"oso, ¢ - By oir%0d 5708 94 )
Options :

he

La A

he

2

2hc

8

he

4% 3A
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The total energy of an electron in an orbit of hydrogen atom is E. The potential
energy of the electron in the same orbit i

i DESFPHS'D w8 $518°D w8 Jogd Ando 3§ E. wd S5

VT a3we) OB $3
8 o =

Options:
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Positron 1s the antiparticle of

TP A0DE D Sevo TBVY), H(ATE Seao

Options:

proton



electron

DS
£

neuftron

- QI°(ET° A0

photon

L D0
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Time: 0
In the given circuit, when A =1, B=1 the values of X and Y respectively are

G doohoed A=1B=1eond X, Y © denden S8

.\. :
B
'
: X
Options:
1.% L0
1.1
2. %



0.1

0.0
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In a transistor amplifier, the voltage gain is

Q06 D80S ST 5B

=’ o1 €D () e @
Options :

same for all frequencies.

0y %"ég@@lgos.) HATDo.

high for high frequencies and low for low frequencies.

A 3}%@@3’5&)&3 Ao Sobokw &S 3"&@:@@5033 359, I &0cR.

low for high frequencies and high for low frequencies.

0B b“«és@msos; ISP 0Bk S8 mg@ngosg )BT E0coR.

low for high and low frequencies and constant at mid frequencies.
I Sodoo s mg@av5os> SEUR bl S;vag@av5oa> DB
GO,
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Time: 0

The radio horizon of the transmission of an antenna placed on 20™ floor in a
shopping mall, where the height of each floor is 2 m is

(Radius of earth is 6.4x10°m)
augs'& 90820 2 & (f0) 20 @000 aFDoh S QI &0 o8T") o)
Giar §S20

(3 w}gfwgo 6.4x10°m)
Options :

| v 22.6 km

, % 45 km
3 36 km
4% 67.5 km
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Question Number : 121 Question Id : 5500531081 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the region of spectral limes of electromagnetic spectrum, when electron
transition takes place from higher energy levels to n = 3. 4. § in atomic spectrum of
hydrogen i

TE@ Sgo00d Jugdd p 38 Fawo od 1=3, 4,5 v DBSo
BB DGO, 08 36 Dho0d IY Db Srew O Fodod” VAFE

(QUeTIARINIY

Options:

Ultraviolet

03 De) 5% Ixoch

Visible

Sy 38
O

Infrared

elexleblor)



Microwave

xusoié xTolel0!
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Time: 0

Maximum number of electrons theoretically possible for an orbit with principal
quantum number 1 = 6 i an atom is

w$ HoArRE Ed Sobo 03§ 1= 6 M06, AEred Do 5')003)5 A6y
QUSR) boaas
2

Options :
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Which of the following statements are correct?
$06 (Y’ B AD?
[ Pis having least negative electron gain enthalpy among P. S, Cl. and F
P.S.CLFo& P OO DEF S JOTS T3 Oowbb g0

II. In Eu. YD Lanthanoid contraction is not observed
erodE 20880 Eu, Yb © & oot

[II. Ce (OH)3 1s most basic among lanthanoid hydroxides
erotd6 556 0 8 Ce(OH); wdibs T00 S0b.

IV. The radii of Na and Na" are 95 pm. 186 pm respectively
Na obain Na™ © a:Sb“gw Qe 935 pm, 186 pm

Options :
[ IIT, IV only
L IIL IV Sorgdao

II. IV only
IL IV &oegdad

L. IIT only
L. TIT soeeha

I, II, IIT only
L II. IIT Soeghad
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Time: 0

The correct order of electron gain enthalpy of N, O, Cl. Al is
N.O.ClL Al aegns girellt QO@@D © DBADD Fedodw
Options:

Cl<N<O<AI

1.%

., N<o<cl<Al
4,
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The correct order of bond enthalpy of given molecules is

QOICR VEVDO 2063 ro;r?)b © DO Sdodw

Options:



H 2 < 02 <z N3
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The number of bond pairs of electrons and total number of lone pairs of electrons in

XeOF; are respectively

XeOF; &' a6 2 QT D03, AP0 2okB B VT o[ ST
Options :

6. 10

1.%

N
——
N
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At T (K), an 1deal gas (Z) present in V L flask exerted a pressure of 16.4 atm. Its
concentration is 1 mol L™, What is the value of T in K?

T(K) 56, VL &), & 0% 666 aind (Z), 164 am © SETR) e
#2208, A red Lmol L, T ewsd K 06 Joss?

Options:

, = 100

L« 400
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At 300 K. the following graph 1s obtained for one mole of an ideal gas. If its
pressure 1s 10 atm, then its volume (i L) will be

300K 56, 08 06 866, TR $ob T 0Dodod. T 26530 10 atm

008 G NBAre0 (L ') Jodh?

p
T slope= 1.1
(o)
—_ 1»
v
Options :
o 011
, % k.3
w20
L x40
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What are X, y and z respectively in the following reaction?

308 t56[ &° X, Y 8ok z e SEIM AD?

xFe™ (aq) + yH"(aq) + zC1,03 " (aq) — %HIO(I) +xFe* (aq) +2zCr** (aq)

Options:

L1416
14, 6, 1

6, 1, 14

3. %

L6141
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If the enthalpy and entropy change for a reaction at 298 K are -145 kJ mol ™ and
650 TK mol” respectively, which one of the following statements is correct?

298 K 56 2,8 36 °D°@°8)D’ dotS' 0’ SN0 SERIT -145 kI mol™

650 TK™ mol™ evond $08 Didsenss” DA HB00E?
Options:

E



3 | 3 >
AG = —50 kJ mol ™. the reaction is spontaneous

AG =—50 kJ mol ™. Slely 90O Sh0

=1 " .
AG = —48.7 kJ mol ™" . the reaction is non-spontaneous

AG =—48.7 k] mol ™, SB[ VDS ko

2.%
AG = +50 kJ mol™. the reaction is spontaneous
AG = +50 kJ mol™, S56( 03 SHho
3. %
AG = 48.7 kJ mol™ . the reaction is non-spontaneous
AG = 48.7 kI mol™, 56§ e005>8) €y¢%0
4.¥

Question Number : 131 Question Id : 5500531091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

11.0 L of an ideal gas at constant external pressure of 5 atm is compressed
isothermally to a final volume of one liter. The heat absorbed and work done
respectively. during this compression (in L atm) are

e 2Ed0 5 atm 56 110 L o366 ososd) 933y 06 A8 XDBATH0

208 D60 £ 080t SRR, (BP0l G, B2 9 deokrr (L atm o)
Options:

r .50, -50



Question Number : 132 Question Id : 5500531092 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Given below are two statements
Statement I: The changes in pH with temperature are so small that we often ignore it

Statement II: When the hydrogen ion concentration changes by a factor of 100, the
pH changes by one unit

In the light of above statements, identify the correct answer from the options given
below

308 Goc TNV BTV
o &
Tieo) I 688 pH & 06 ardoyen orer (w0 8808 & Srtneio D)0
o‘.)é.)b&)
iy II: &R woird med 100 5t &r08, pH & a8 oS Sy
DO
D T BEdorr S0 DN {wod HBAVD R hioted
Options:

1. %



Both statements I and II are correct.

egef I wdaswn orfay I Sodar HEADD.

Both statements I and II are not correct.

aegaf I ddasn orfa I Sodr HOGHID 7.

Statement I is correct but statement II 1s not correct.

egaf I DODLRE 57 arjay II DOCHLIE see.

Statement I is not correct but statement II is correct.

Jega) [ 28aLOG 57k 52 ojang I HEADHE.

Question Number : 133 Question Id : 5500531093 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole H,O(g)and one mole CO(g) are taken m 1L flask and heated to 725K. At
equilibrium, 40% (by mass) of water reacted with CO(g) as follows.

H,0(¢)+C0(g) = H,(¢)+CO,(g)
Is K, value 18
w8 ard H,0(g) S8k s ares CO(g) od 1L é%zj S S8 725K H6D
36 S, DTRS 38, 40% (G 80r) A, CO(g) & 308 egorr 36
Q0808.
H,0(g)+C0(g) = H,(g) + CO,(g)
a3 K ) R0
Options :
2.220

1.%

| 0444

L« 4440

S
)
)
)

Question Number : 134 Question Id : 5500531094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The following methods can not be used to remove permanent hardness of water

308 DL’ BV e1AIrAod A TS SEVBR FofosTiw?



Options:

Treatment with washing soda

006 s ODG] 260

Ion — exchange method

IO DO ‘&che‘.?

Treating with Calgon

SIS & 6] 2600

Adding calculated amount of lime

Nlele sszjsegé :(na“clé')cl gDEo

Question Number : 135 Question Id : 5500531095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statement(s) is/are correct?
(1) Li NO3, Ba (NO3); both will give NO; on heating
(11) BaSOs 1s less soluble in water than CaSOg4

(111) Alkaline earth metals do not dissolve in liquid ammonia

308 DHES” DB /DD LDOIID?

(i) Li NOs. Ba (NO3), ot DEB2:p¢ NO, & adran
(ii) DedeS* CaSO4 Soe3 BaSOy B DT SEHS00E

(iii) T8 20yB8 S°Fen G ey Dosres” 6K
Options :

1 only

1 S0°esa0

1, i1 only

i, il Arado

1. 11 & 1ii

1. 111 only

1. 111 S0

Question Number : 136 Question Id : 5500531096 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Statement I: Boron does not exhibit allotropy
Statement II: Boron is extremely hard and black coloured solid

Dde I: 6507 G0 0 36,0580

DdGes Ik e5°0e S0 Goth Ko arer B8 200 Derdo
Options:

Both I & II are correct

I & II ot 83D

1.%

Both I & II are not correct

I & II Bodcr DBAD 5°)
2. %

I 1s correct but IT is not correct

I 5858 52 I 2338 S°Eo

3. %

I is not correct but II is correct

I 5858 5760 52 11 28HE
4.¥

Question Number : 137 Question Id : 5500531097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not correct?

208 78S DA DBI 5°¢?



Options:

Lead does not show catenation

TE SEIND K0 DBB0E

1. %
Buckminster fullerene contains 20 six-membered rings and 12 five-membered rings
05 0020 28 20 e 576N Swoirem oo 12 06 S°60 HUarod
$98 0dwotod
2.%
Stability order of GeX,. SnX; and PbX, 1s GeX; < SnX, < PbX,
GeXs, SnX, Hdosw PhXs o %})dé& g0 GeXs < SnX) < PbX),
3. % '
The number of metalloids in group 14 elements is 2
6D 14 Soostod” g &7 Doy 2
4.v '

Question Number : 138 Question Id : 5500531098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The decreasing order of priority for the following functional groups in the [UPAC
Nomenclature 1

TUPAC 508683085, S068 aid(@add 03008 D0ridFe) Padoop(d & 8o

-50,H.-CN,-COOH, -OH,-CHO

Options:



v -COOH>-SO3H>-CN>-CHO =>-0OH

1.

-SO3H=>-COOH > -CN>-CHO >-0OH

2. %

, “COOH>-803H >-CHO>-CN>-0H
3.

, » ~SOsH>-COOH>-CHO>-CN>-OH

Question Number : 139 Question Id : 5500531099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Arrange the following free radicals in the correct order of their stability

308 DIy FADALVR DTD NOS $2008° 9AEHNIW

(1) CHy=CHe (i1) CH3* (it1) CH3— CH —CH;3 (iv) (CH3)3C

Options:

px ISH< <V

. > > 1>ii



Question Number : 140 Question Id : 5500531100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The given unit cell belongs to the type

’arﬁbix‘) O30PE e & 835005 Boeod

ey
B
A

Options :

Primitive unit cell

FAE O S

Body centred unit cell

e90¢9:S08eh Al oS S

Face centred unit cell

DHOE SoHd oS S

End centred unit cell

2905( SoBS AT VS



Question Number : 141 Question Id : 5500531101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

6 g of a non-volatile solute (x) is dissolved in 100 g of water. The relative lowering
of vapour pressure of resultant solution is 0.006. What is the molar mass
5 1 2
(n g mol™) of x?

62 a8 weray3® gT) (¥), 100 g 0 WS $bhord. T Fos
iR D)3 0.006. X g Arerd ¢T3 (2 mol” ") Jo?

Options :

Question Number : 142 Question Id : 5500531102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The molality of solution. when 18 g of glucose is added to the 18 g of HyO 1s
18 g & (P8% %0, 18 2 0f HyO & DR Tradeao ding), werde

Options:

;% 0.55m



r2
n
N
=
P

2. %

3 ¥ 5.55m
555 m

4,%

Question Number : 143 Question Id : 5500531103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The molar conductivity of 0.027 M methanoic acid is 40.42 Scm’ mol™. The value
of dissociation constant of this acid is

v e 2 -1 A g ) -1
— \ :s
(GwenAH+ 349.6 Scm mol™ and S 54.6 Scm” mol )

0.027 M ¢S ows$ essdyo Arerd TPS80 4042 Sem’ mol ™. € 30 DR
9 SR 2 -4 4° =z Yo -1
8&050 QL0 (/«.H_ =349.6 Scm” mol™, AHCOO_ =54.6 Scm” mol )

Options:

1.5x107°

1.%

. 6.0x107

% 4.5x10™

, v 30x10%



Question Number : 144 Question Id : 5500531104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consider the reaction carried out at T(K)

Ag)+B(lg)— C(g)

The rate law for this reaction is r =k[A] [B]". The concentration of A in expetiment

2 and rate in experiment 3 shown as X and z in the table. X and z are respectively

Experiment | [A] [B] Initial rate
moll’ | molr’ | (molL’s”)

l 0.05 10.05 R

- X 0.05 R

3 0.20 010 =

T(K) 256 8% e56{0 HBitsoctosn
A() +B(o?) —» (C(o)

& e Sk daboavo, 1=k[A] [B]'. poietio 26" A ey, o 3 &
B8R0 X 08050 Z &0 AP, X BAKL Z 1 HERM

oardan | [A] [B] 602 Bev
-1 -1
molL molL (mol [t )
| 0.05 0.05 R
2 X 0.05 2R
3 0.20 0.10 z
Options:

X=0:100 z=8R

1.%



¢ X=005 z=4R

3 v x=0.10 z=16R

4% x=020 z=16R

Question Number : 145 Question Id : 5500531105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which of the following is not correctly matched for enzymatic reactions?
& 306 B B0 JoFD BB BT BSSADREGED?
Options :

Proteins — Amino acids : Trypsin

TP - IPJesHren ; GBS

Starch — Maltose : Diastase

gos‘) = w§é; EOSrRE

Sucrose — glucose and fructose; zymase

REE (48R, PE&; Bd

Maltose — glucose : Maltase

S’ 4r8E; HrdR



Question Number : 146 Question Id : 5500531106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The greater the valence of the flocculating ion added, the greater is its power to
cause precipitation of a colloid. This rule is

,06% BAiPS oy 20A% §6 Sgrand v o 083 ao:»géo DEHHDR0B.
& Qo0

Options:
Hund’s rule

T0oé 3 DOA0

Pauling rule

Fdoh Dabsvo

Henry’s rule

Q) Dadrsvo

Hardy — Schulze rule

XS"é = weg QO30

Question Number : 147 Question Id : 5500531107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following Ellingham diagram, and identify the incorrect statement
regarding it

$06s Aoz0 D0 2B3Yod, $08 TAS” O T HFIA S (Hockaidn

—
=
=
>
|

-1100 4

AGSin kJ mol! of O; —»

'1673K

Options :
At point ‘A’ for the reduction of Al,O, by Mg, AG"=0

Dot A 56 Mg & ALO, L0863 AG® =0

1. %

Below 1673K., Mg can reduce Al,O, to Al

1673K o0¢s, Mg, ALO, &0 Al ™ gaarg8otiod
2. %

Below 1673K, Al can reduce MgO to Mg

1673K So¢s, Al, MgO & Mg v 00078805080
3.V

Above 1673K, Al can reduce MgO to Mg

1673K &, Al, MgO & Mg e 8005788000
4. %



Question Number : 148 Question Id : 5500531108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following, the molecules are arranged in the increasing order of their
bond angles?

308 T8 B0t B T w0t Erren 267 g00d wd nEan?

Options:
- P4 <8 ol £ o SS
, x S¢<0,<S, <P,

Question Number : 149 Question Id : 5500531109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Select the correct order of radit of the given ions
306 QOED BAIFH T{TO DOGD ATy D) Sodk

Options:

Yb* <Sm™ <Dyt < Pr**

1. %



Yb* <Dy <Sm’> < Pr’*

2.V

. — 5 |
P S Dy < b’
3.%

Pr** < Sm* < Yb* <Dy*
4. %

Question Number : 150 Question Id : 5500531110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Among V., Cr. Zn. Fe. the metal having lowest enthalpy of atomization 1s
V. Cr. Zn. Fe o, SELEUR DESTREEE Ooc;rﬁ)b e &0
Options:

Y,

1.%

Question Number : 151 Question Id : 5500531111 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following polymer is used in the preparation of gaskets?

308 O D06 &0 RS © SoirdS” T oEdd?

Options:
%CHQ—CH%
| n
1. % CN
JFCHz—CHA}
|c He
2. % 2

Question Number : 152 Question Id : 5500531112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List -1

A. Beri Beri

B. Scurvy

C. Cheilosts

D. Rickets

308 TR & DS0E

& -1
A. 836830
B.2),6¢
C. 858

D. 55953

The correct answer 18

288 PP

Options:

1.

List—1I
L. Riboflavin
II. Thiamine
1. Pyridoxine

IV. Ascorbic acid

V. Vitamin D

o -1l
L 85"
IT. $a$oadd
IIL 28ES\S
IV. 53,875 esidvo

V. dbod D

o =1, B= IN. C—IIL =Y

v A-ILB-IV,C-L D-V
2.

3.

o A—ILB-V,C—1,D-II



. A-III.B-V.C-1IV.D-II

Question Number : 153 Question Id : 5500531113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The source of vitamin, whose deficiency causes scurvy is

D DD &0 1) 64 TIBI SBRE oD &I Fdo
Options :

Amla

Question Number : 154 Question Id : 5500531114 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ranitidine belongs to which of the following class of drugs?

308 O D0 oSV FIBAS BokoB0B?
Options:
Tranquiliser

¢ros(Gab

Antiseptic

o508 ?o?gé

Analgesic

DTS 208

Antacid

308

Question Number : 155 Question Id : 5500531115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- Chloro - 4 -

1-86 -4- 5808, 1- §6 -2.4- & DEBo&S 6ok

nitrobenzene,

I- Chloro - 2, 4 - dinitrobenzene and
1 - Chloro -2, 4, 6 - trinitrobenzene are transformed to corresponding phenols with
the reagents X, Y, Z respectively. What are X, Y. Z°

1-86 -2.4.6- SRE'BoED w X, Y. Z 565708 SGm 38 20008 DSy

e drdyedirow. X, Y. Z e o

Options:

X =H,0:

X = (i) NaOH, 443K,
, v (i)H"

X = (i) NaOH. 625K,

(i) 1™

. X =NaOH. 625K:
4.

Y= NaOH, 365K

Y = (i) NaOH, 368K,
(i) H:

Y = (i) NaOH. 440K,

+

(i) H:

Y=H,0:

Z=NaOH, 445K

Z =Warm (2¢) H,0

Z=H0H

Z =NaOH. 440K

Question Number : 156 Question Id : 5500531116 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which is the correct order of the following alkyl halides for an Sy2 reaction?

SN2 aosé*“. S068 @A ) 6 FGE © B §080 B!

Options:

11>1>1il

H>1>1

i1 > i1 >1

H=>1i>1
%

Question Number : 157 Question Id : 5500531117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



X and Y in the following reactions are

08 B[RS X S8k Y e HHH

COOH
(1)SOCl, (i) ByHg
Y = - B
(if) Hy/Pd-BaSOy (i) H;O
Options:
CH,OH CH,OH
)
1.%
CH,OH CHO
2.V
CHO CHO
@ ’
3. %
CH, CH,OH

5

Question Number : 158 Question Id : 5500531118 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the reaction, 1f X is the reagent and Y is the product, which of the following 1s not
feasible?

368" X 5680, Y aby)0 wond, $ob 88" 26 Dewseed?
COOH
X
Options:

X = Conc. HNO;3;+ Con. H>SOy4: Y = 3 — Nitrobenzoic acid

X =1r¢ HNOz+ et HySOy Y =3 - 2¢5°8%02 a8 es:00
1.%

X=Bn/Fe Y = 3 — Bromobenzoic acid

X =Br,/Fe Y =3 - &' arao ans esdvo
2. %

X =NaOH. CaO Y = Benzene

X =NaOH, CaO Y = 802
3. %

X =CH;C1/ AlCL Y = 3 — Methylebenzoic acid

X = CH;3Cl/ AlCl3 Y =3 - 036 &oz’ons essvo
4.¥

Question Number : 159 Question Id : 5500531119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is a hemiacetal?

308 TS DB IFAIDETES?

Options:

O OH
1.V

QO O\
2.%

@)
NH

3. %

O O
4. %

Question Number : 160 Question Id : 5500531119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In which of the following, reagent and product are correctly matched with respect to
benzene diazonium chloride as reactant?

Sairaddo o2 ¢ohE’ oo §BE © dowodod), §0b o’ Bobock
o880 8% aébélo R8T 20 z3oﬁ)aog,°o»

Options:

Cu,0 ; C.H,Br

HI ; CH.I

2. %

_ NaNO, : CH,NO
3.

CH,CH,OH : CH,
4.¥
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